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Abstract

When a survey boat runs on a sounding line keeping the angle between two fixed land marks const-
ant, deviation of position of the boat from the planned course can be assumed to be composed of two
parts, one arised from error in angle measurement by sextant and the other from yawing of the boat,

Deviation 4% caused by the angle measurement can be evaluated by the following formula:

4y = %— { ~cosec? f cosay/1—cos? @ sinfa —cosec?q sec§ (1—cos?d sin?a) +sec¢9} 46,

where ¢ is the measured angle, s is the length of chord connecting two land marks, and 90°+a or 90°
—a is the position angle of the boat’s position from the chord measured at its mid-point,
Applying this formula, spacing of sounding lines for a required spacing of depth curve, or allowa-

nce of angle measurement for tolerable displacement of the boat can be estimated,
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dx = 4k cosP = dhy/1— cos?g sinte

dx = {— cosec? cos a 11— cos?) siner — cosec?d secg (1—cos?g sin%a) +sec0} 40
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dx = % {— cosec?§ coser Y'1— cos?g sin®a — cosec? secd (1— cos?g sinZa )+ secﬁ} 40 (5)
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